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Note: Answer any 2 full questions, choosing one full question from cach part.
. 5 3 1
‘QN’ Questions Marks RBT| CO's
PART A
1 a}Deﬁnc Paging. Explain paging hardware with a neat 10 |L2{CO2
diagram.
. Assume that there are 5 <ses PO throueh P4 and 4 rvoes of resources. At time T we have
bl" heilowingsme. 10 |L2|CO2
Process | Allocation Max [ Available
— [A_|B _J¢ [0 [A [B Jc D [A [B € |D
P06 Jo (o [t (2 fto Jo [y Jz J1 5 12 10
Pl 1 0 0 |0 1 7 5 0 i
r2 1 |3 |5 14 |2 |3 |5 |6 |
P3Jo J6 13 2 Jo 16 |5 |2 |
P+ Jo |0 |1 14 Jo |6 |5 6 |
Apply Banker's Algorithm to answer the fullowing:
1) What is the content of need matrix?
i} Is the system in a safe state?
i) If 2 request from a process I1(0,4.2,0) arrives, can it be granted?
¢ |What is deadlock? Explain the Necessary Conditions 5 |L2{CO2
For deadlock.
OR
. o . : ; : q
2|aWhat is segmentation. Explain with a neat diagram and 10 | L2} CO2
example. |
b| [Process TAllocavon — — " TMax Avaliable | 10 |L2|CO2
| A B ( A B T [A B ¢ | .
o jo jo |2 0 0 4 I [0 [2
Pl K I R 5 | I
o N E I 7
P3 6 |3 2 I8 14 12
I'4 4 3 11 S 7
Find the need matnx and caleulate safe sequence using Banker's algorithm. Mention the
above system s safe or not safe, If a request from process P2 arrives for (0,0.2), can the
| request be granted immediately?
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¢ (What is fragmentation. Explain its types. 5 |L2]|CO2
PART B

3 alWith a neat sketch explain structure of page table.(alll 10 |L2|CO3
types)

b Process | Allocation Max Available : 10 L2|CO3
A B . A B [ A il C
o) 0 1 0 7 5 | 3 3 2
P1 |2 0 0 i3 {2 2
P2 3 0 2 Y9 0 2
Pl 2 1 1 2 2 Z
b4 10 (R N LI S
Answer the ioil}%xﬁﬁg-qu—c;uhhc using banke’s algarithm.
i) What is the content of the matrix need?
i) Is the system in a safe stawe?
iii) M a request from process PL arrives for (1, 0, 2) can the request be granted
immediately 7 g
i o }
c I \.unplr Given the memon partitions ol 200K, TOOK, SO0K . 300K, TOOK . and 5 L2 CO3
Wk \!up'r:\ first fit best 1) and the worst n .algnmlunx L pl.u C Processes with
FISK, 427K, 250K, and 550K sz

OR

a With a neat diagram explain Copy-on-write, Swapping | 10 |L2|CO3
and TLB.

]

b What 1s page fault? With a neat diagram explain steps| 10 | L2 CO3
in handling page fault.

c| Onasystem wsme smple seementanon. compute the physical addresces for each of the 5 L2 CO3
logacal address. logacal address is grven m the followwng segment table. If the address generales a
segment faull. ndicatz 1t as “segment fauli™

| Sezinent Base Lenath
0 330 124
I 576 211
2 11 99
3 495 302
1) 0.9
nt 278
m) 1268
w32
vio Ol
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